Evaluation de fin de troisième 2006

LISTENING / ECOUTER.

RECORDING NUMBER 1

Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
1)   What is the tourist asking the woman for?

a  -   the Museum of Science and Industry. 

b  -   the British Museum.

c  -   the Science Museum.

d  -   the Natural History Museum.

2)  To go to the museum, it is much quicker if the tourist…
a  -   turns right and then left.

b  -   turns left and then right.

c  -   turns right and then right again.

d  -   turns left and then left again.   

RECORDING NUMBER 2

Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
3)  Who is talking? 
a  -   two adults.

b  -   mother and daughter.

c  -   father and son.

d  -   two children.

RECORDING NUMBER 3
Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
4)  Where does the scene take place?  

a  -   at the airport. 

b  -   at the bus station.

c  -   at the railway station.

d  -   at Oxford Stadium.  

5)  Which city is not mentioned?  

a  -   Birmingham

b  -   London

c  -   Nottingham

d  -   Oxford.  

RECORDING NUMBER 4
Instructions :

Read, listen, and circle the missing word in the list. Only one answer is possible.

You will hear the recording twice.
6)  

James Hunt, one time superstar of British motor racing, died of a heart attack yesterday. The _____________ of the 45 year old ex-world champion stunned family and friends and plunged the sporting world into mourning.

a  -   dead

b  -   deaf

c  -   death

d  -   died 

RECORDING NUMBER 5
Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
7)  Andrew Henderson …
a  -   studies Computer Science

b  -   works in prison

c  -   studies Science in prison 

d  -   works in a bank  

RECORDING NUMBER 6
Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
8).  What is Mr and Mrs Webber’s address? 

a  -   15 Hamilton Road, Manchester

b  -   66 Gloucester Road, Worcester

c  -   60 Hamilton Road, Gloucester

d  -   16 Hamilton Road, Leicester.

RECORDING NUMBER 7
Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
9)   How tall is the sequoia tree?  

a  -   24 metres

b  -   34 metres

c  -   4,600 metres

d  -   83 metres 

RECORDING NUMBER 8

Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
10)  How old is Adrian’s sister?    
a  -   8

b  -   34

c  -   42

d  -   50

11)  Adrian was born in India because …. 
a  -   his sister was older than him

b  -   his sister was in the Indian police

c  -   his parents were born in India

d  -   his father worked in India.   


RECORDING NUMBER 9

Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
12)  How many children are there in this family?

a  -   3

b  -   4

c  -   5

d  -   6

13)  Where did Sue live when she was young?  

a  -   in America, in Africa and in Singapore.

b  -   in the Far East, in England and in Africa.

c  -   in France, in India and in the States.

d  -   in Hong Kong, in France and in England.

RECORDING NUMBER 10
Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
14)  The document is: 

a  -   a cooking recipe 

b  -   a magical formula

c  -   a restaurant menu

d  -   a twenty-five-minute race   

RECORDING 11

Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
15)  Who is Peter talking to?

a  -   a detective 

b  -   a doctor

c  -   a postman

d  -   a vet    

RECORDING 12

Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
16)  How many times has England won the World Cup since 1966? 
a  -   once

b  -   three times

c  -   four times

d  -   six times 

RECORDING 13

Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
17) . In England, people can take their driving test when they are: 

a  -   under 16

b  -   16

c  -   17

d  -   from 16 to 17 

RECORDING 14

Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
18) . What would this person do if he had enough money?

a  -   buy himself a house by the sea side.

b  -   buy a house for his mother.

c  -   buy something special for himself.

d  -   buy himself a new car.

RECORDING 15

Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
19) . What does this person usually do in the morning on a working day?
a  -   She wakes up late and gets up immediately.

b  -   She wakes up late and goes back to sleep.

c  -   She wakes up early and gets up immediately.

d  -   She wakes up early and doesn't get up immediately.

RECORDING 16

Instructions :

Read, listen, and circle the letter corresponding to the correct answer. Only one answer is possible.

You will hear the recording twice.
20)  What must people do in this job?
a  -   feed animals

b  -   pay ten dollars

c  -   walk dogs

d  -   look after old people
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